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import java.math.BigDecimal;
import java.text.DecimalFormat;
public class R_RS{

public static void sweetWine(double br, double rs){

double [] brix

24.8,25.7%;

= {17.3,19, 20.6, 22.4, 22.8, 23.1, 23.2, 24,

double density, min = brix[0];

for(int i=1; i<brix.length;i++){

}

min = brix[i];

else

break;

if( min == 17.3)

density = equationi17(rs);

else if( min == 19)

density = equation19(rs);

else if( min == 20.6)

density = equation20_6(rs);

else if( min == 22.4)

else

else

else

else

else

else

BigDecimal bd = new BigDecimal(density);
System.out.println("density:
bd.setScale(0,BigDecimal.ROUND_HALF_EVEN) .toPlainString());

}

density
if( min
density
if( min
density
if( min
density
if( min
density
if( min
density

density

equation22_4(rs)
= 22.8)
equation22_8(rs)
= 23.1)
equation23_1(rs)
= 23.2)
equation23_2(rs)
= 24)
equation24(rs);
= 24.8)
equation24_8(rs)

equation25_7(rs)

if(Math.abs(br - brix[i])<Math.abs(br - brix[i-1]))

’

’

)

’

)

’

'+

private static double equationi7(double rs){
return (rs+2033.3)/2.0282;

}

private static double equationi9(double rs){
return (rs+1993.8)/1.9967;

}private static double equation20_6(double rs){

return (rs+1996.9)/2.0012:
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}private static double equation22_4(double rs){
return (rs+2036.5)/2.0485;

}private static double equation22_8(double rs){
return (rs+2018.1)/2.0265;

}private static double equation23_1(double rs){
return (rs+1532.1)/1.544;

}private static double equation23_2(double rs){
return (rs+1778.6)/1.7886;

}private static double equation24(double rs){
return (rs+1847.8)/1.8542;

}private static double equation24_8(double rs){
return (rs+2096.4)/2.1039;

}private static double equation25_7(double rs){
return (rs+1854.8)/1.8734;
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